Phys2-04 Current, Resistance etc

Monday, April 10, 2023 241 PM

Onsprs 25+ Cuvenk  Readmnnce I Blechnwohc  Tovee
uph; NRUD elochr ghatics %J _—‘P‘, L O SR

y efm chag B{u:{*r'ad&mw\'as c"\ofbdgs T ww-.m";‘r-

veizd . P,f,L e” W M"TVQ’S < o
s [&
e L o’
ahwn Y04 '
= obu udavice dFﬁ,t‘xl-mPa, =) . colliston
pre 3

) ¢ ' g Lamdans wetton

e o colole i e £, ik stows ==

-&\_n.c,l‘rbsmc‘—:_[—?vt FF & e seewsy t»
s / Sh‘a.

whak-i{ E in Do whl.

" "(’f‘t’) ' E,QCLOLOL cLF:&’{ (S\Ift;]i’/[q,uLB e w1t wtid.

.l::.e_E F =T
ol\igons + B fwe

S O~ o ws
WA
Net al,lsy’lwwl' M C =3x% w0 ™
>8] = al/\H" ueloc;n:j

Lg-pl no uM.M/g ~ l\';gwu/s << LDb U‘-“-f_g

—

ourrenk- N o'-ak'mlﬂl wrd @“J“‘f"

Sd =& = B i def-ivutio -

WV

A _ | Colao - £ Al
Current j’_z%= TB%_ e = Awpee 5 =
go,ﬂ_ sl ST U.H:L{-.f

Puple by P A~
: |

- A
We, EC' 53
C1
— o= @t i B 8 . o® %
i €4 % gt e
i: Pruuf-«/"‘ & Pt
+ =
ﬁmc.:cra:,,sgoﬁomﬂ
A
‘SQ _T AQ =9, (HUW\M"‘:— GD‘O‘W)
EE- - LBé-buS“C)

ol | WA
V\UWO‘{_CWW on ﬂe_u‘-—u&ﬂ n_—_“ Volwe _|/:\M-5



A AL =volwe

i
&
h 1D D= r:.-lwh—% IAPH_)_; bQ
4—Lé ‘5[6( e

At At
ek 1, n A /L
S 5
At
L = CT{_V\A-LQ-J qt:{,6$bglqc T <K~

AD"HH

Y
= dewsy T A 2 W

M _ A

Chtr ]

?_\A Cu  wve Ml o (D2 wam T =4.6% A

(g?z e M‘B w= %-?YLD’L%_JIS - = Gk=)
3_7_,- _I-- % 1-6Y H-b"& L = 2 ‘;f-l.lii)l> 'A'/M'x_ "
A T'.‘(l-ﬂlv; M) vl
64 =) T-9, w A &l 5 3 =9, ndd

U'-p{ - o.1% M‘M-{S = & ?‘lgq""“fs L»—L"a &-MLL{.)
Q) Houw cowe oy e £L56r‘d'5 w\.[arf B vt {-ﬁ—SHJ— flecn L§|~CL7

635 a 20 muntes

~J

g \ cav\.DLbL& ,
Pesnuity  (Divens) 7~ fby .
Conducki vty s W @,-*1.4
3 =B =T & E
//F A

| —Y — OGO E | o S U P(T_- e \



= IS TP -V =

m

o =
res sﬁi‘:\j

OHW's [ pw N =

LY
[

|

| 1

£ =0

l»é——il AV=iz L
Av

0 A .

L e
Q = CCS\%W fd g —Pr- ? — (Ts\ 51\_&»-1:-]

Table 25.1 Resistivities at Room Temperature (20°C)

Substance —~ p(Q-m) Substance p (Q+m)
Conductors q Semiconductors

Metals Silver 147 x 1078 Pure carbon (graphite) 35 % 107°
Copper 1.72 X 1078 Pure germanium 0.60
Gold 244 x 1078 Pure silicon 2300

Aluminum 275 X 1078 Insulators
Tungsten 525 x 1078 Amber 5% 10"
Steel 20 x 1078 Glass 1010-10™
Lead 22 %1078 Lucite >10"
Mercury 95 x 1078 Mica 10''-10"
Alloys Manganin (Cu 84%, Mn 12%, Ni 4%) 4 x 1078 Quartz (fused) 75 X 10'°
Constantan (Cu 60%, Ni 40%) 49 x 1078 Sulfur 10"
Nichrome 100 x 1078 Teflon >10"
Wood 10%-10"!
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Vi = () (28)= 12V
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96 6’2) b 2692 --- Suppose a resistor R lies along
each edge of a cube (12 resistors in all)
with connections at the corners. Find the
equivalent resistance between two diago-
nally opposite corners of the cube (points a
and b in Fig. P26.92).
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26.47 -+ CP In the circuit shown in
Fig. E26.47 each capacitor initially
has a charge of magnitude 3.50 nC
on its plates. After the switch S is
closed, what will be the current in
the circuit at the instant that the
capacitors have lost 80.0% of their
initial stored energy?
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